$$ v Eﬁ% "ﬁ’ iT murto -osien vihennys (sekamurto)

Nimi: Paivimaara: Pisteet:
3 2 _ 4_2_
4 9 8 6

1 4 1 7
s 9" 375"
g 6 2_
2 2 9 8
7_2_ 31_12_
9 5 2 5
6_2_ 1_1_
8 9 7 9

6 3 3
5777 2787
2 1_ 4 3 _
5 4 5 8
g2 o2
4 3 7

6 4_ 6 _4_
9 8 g8 7
24 73
5 8 9 8

www.snowmath.com


https://www.snowmath.com

@% ¥ 3_88 "ﬁ‘ iT murto -osien vihennys (sekamurto)

Nimi: Paivamaara: Pisteet:
3219 421
4 9 36 8 6 6
11_4_13 21_7_31_113
6 9 18 2 9 18 18
1 1 6 2 5
- —==1 — ==
2 2 9 8§ 12
7 2 17 31_12_21_21
9 5 45 5 1 10
6 2 19 112
8 9 36 7 9 63
6 12 33 11 3
1377733 77875713
2 1_3 4.3_11
5 4 20 5 8 40
(1_2_7 Ll 2 8 _,1
5 4 10 7 21 21
6_4_1 6_4_5
9 8 6 8 7 28
240 732
5 8 10 9 8§ 7

www.snowmath.com


https://www.snowmath.com

